R:\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137.6-.10\FL-13137.6-,10.dwg, FL-13137.9

N
KQ%VALLEW

123 NE Beacon Dr.
Grants Pass, OR 97526

GLAZED WOOD DOUBLE DOOR
INSWING / OUTSWING

"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building Code
(FBC) structural requirements excluding the "High Velocity Humicane Zone" {HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be

protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same os that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing reguire further engineering
anailysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevation, design pressures & general notes

Door panel details

Horizontal cross sections

Yertical cross sections

Buck & frame anchoring - 2X buck masonry construction

Frame anchoring - 1X buck masenry construction

o on o [p

Bill of materials, glazing detall & components

74.31" MAX. OVERALL FRAME WIDTH

il

$7.50" MAX. OVERALL FRAME HEIGHT

\-
\\‘
e
— e

O =

1518 TRUE DIVIDED LITE SHOWN
{1501 FULL LITE ALSO APPROVED)

B813.658.8187

P.Q. Beox 230 Valrice FL. 33595
Florida Board of Professional Engineers

BUILDING CONSULTANTS, INC.

Phone No.:

Certificate Of . Authorizatiop Neo. 9813
EFEZ fo-asrs

Documents Prepared By:

Lyndon F. Schmidt, P.E. No. 43409

ROGUE VALLEY DOOR
GLAZED WOOD DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ| DATE

DATE: 10,/25/12

SCALE:  N.T.S.

1501 FULL LITE | 74.31" x 97.50" | 27.00" x 81.38" +47.0 -47.0
G1

1518 TRUE ; " " .

DIVIDED LiTE | 74-31" X 97.50" | 8.17"x 12.52 +47.0 -47.0

DWG. BY: AL

CHK. BY: LFS

DRAWING NO.:
FL—13137.9

sHEET 1 oF 7

© 2012 R.W. BUILDING CONSULTANTS IND.



SEE EXTERIOR J
NOTE | EXTERIOR (18) 2 ¢ \3
- 4 g ﬁ é E b )
@% Vé?/ . SEE @ pELY § g
~ ~ NOTE 1 552\ 2
= — = % § 255 Ny
[~ R E &
3 INTERIOR  {//¥ l/ EXTERIOR s 882 EEUE
SEE % 2w 7}
é) INTERIOR @nme | vore (7 3 iég &% 2\
INTERIOR -\@ F3328, Vs
|+ o 'E
(1" HORITONTAL CROSS SECTION (2 "\ HORIZONTAL CROSS SECTION )/ : gz 2
w \g/ g % Lo
@ VERTICAL CROSS SECTION 8
2
5]
_ ., 3600"MAX.OVERALL _ . 300" MAX. OVERALL INTERIOR EXTERIOR §§ 3
PANEL WIDTH PANEL WIDTH Y= Ly
(=]
4 ] F/ Eg > g
l : NOTE: = 13 3
2 1. Staples located 1" w @l o
- from each end and 8§ 2 S
/// 4" o.c. thereafter 5o |zl o
2
/ ) I 3 k&
4.5 - 2 SEE & E
] NOTE 1
= = STILE & >
o o C) 3 =
% T }
< Z t a
i " B o =
é é X e} /_\ e 1.75" —== o —] =075 = 2
3 3 = K;/ ‘ j () GLASS STOP o
: % 2 -(® 9
O = I
/ in ’ —j | 0_5"
a 2 3 N
/ . E
— . j]
l Lt iy
n = ®\ £ S
1 ¢ %
pate: 10/25/12
@ 175 = 1.25" oAl N.T.S.
DWG. BY: AL
@_DOOR PANEL () DOOR PANEL @M @M @ MUNTIN o e LFS
1518 true divided fite 1501 full lite m VERTICAL CROSS SECTION DRAWING NO.:
FL—13137.9
W SHEET _2 OF___:Z_

R:\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137.6-.10\FL-13137.6-.10.dwg, 4-2

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137.6-.10\FL-13137.6-.10.dwg, 4-3

NQTE:

. Attach astragal to the lock stile
of the secondary panel with
screws {#10 X 2-1/2" pfh) 1" from
each end and 8’ o.c.

S .
o

1-1/4" MIN.
EMB. {TYP.}

EXTERIOR

INTERIOR

7“1\ HORIZONTAL CROSS SECTION

N

Outswing shown - inswing
alse approved

EXTERIOR

INTERIOR

7“2\ HORIZONTAL CROSS SECTION

Outswing shown - inswing
also approved

'IO

v

*&

oo
O

1-1/4" MIN.

o

LN

EMB. (TYP.)

/~4 "\ HORIZONTAL CROSS SECTION

w Shown w/ 1X sub-buck

EXTERIOR

P.O. Box 230 Valrico FL. 33595

Phone No.: B13.659.9197

BUILDING CONSULTANTS, INC.
Florida Board of Professional Engineers

Certificote Of Aythorization o, 9813
Z‘?-%‘ o-2502

INTERIOR

/"3 "\ HORIZONTAL CROSS SECTION

\_/ Qutswing shown - inswing

also approved

5
R+
e
2
4
a
n g
€
(] G ;
E
3
[T}
Q
Q
2
2
o
88 |
as n
7]
EQ n
S g O
o 15 %
ga g‘o
[ T VY|
<8 B &
og Z
e 0
GlEO || N
2 S
S o
a P
>
ia)
)
=z
o
Uy
o
o
<
e
o
=
oaTE: 10/25/12
SCAE:  N.T.S.
DWG. BY: AL
CHK. BY: LFS
DRAWING NO.:
FL—-13137.9

sHEET _ 3 oF 7

Lyndon F. Schmidt, P.E. No. 43409

© 2012 R.W. BUILDING CONSULTANTS INC.



AN BANYIANSNDD SNIATING ‘MY 2102 @

S0PEE ON “Ad IPIUYDY “J uopuk SNOISIAZY
~2/.s2- GN.HM.W SNOILOZS SSo¥0 Tvouwaa |28 VA TONIN 1 o 21
£186 off uopozuoufty JO 8300LRD NI WL
sueoubu] |DUGISE@IOI4 JO PIOOE DPLIOLY SA1EN3SSY HO Livd % = =i L=
LBLB'6S9TIY TON euoud N Z gn 4_
GEBSEE 714 OSWIPA OFZ xog ‘0'd \Su@. 4000 JOOM d3Z2ViI0 2 1ElE g |
“ONI 'SINVYLINSNOD ONIGTING H000 AITIVA 3n00Y Bl w i | |Z = L
:Ag pedodeld syuswnsog *10NQ0¥d 2 m 5 m &
o
Q
oe
o
><
- 0
_ : =
bw . ; m
. z o 2
a4’ ) O 3
~ o
a Y = a
a s (®) _mm ke
° rr} = Qle
. ! 3 Z &5
4 : oy m - c m
) 3 a B
B mu m .w m m.v
A o e =
i ©) g 2 3
o g OF ._ >0
N = s
N L
2 ‘8 L@
» mw o - sy
- ' E - ,l
- 1 dAl) 'awa {'dAL) 'ewa _| _
NIW.F/1-L NIW ./ L1
('dAL) aW3 ___ -
NIW F/1-1
(%2
O
%
g
Z =
=
O O
= =
Ulo 9]
e w
S v
k= ]
ol Olo
xlzo &G
% O .m W m ¥ %
ol | - L
“ S22 & Sis
K35 > E2
2 59 ] =3z
: \\\\ b W %d ..V.... 2
s g w— =
=z
ATE @ &
.
®
I .
- o1 ['dALl "an3
NIW /L1

INTERIOR

bt 'BMPOT-9"LETET-\O L -9 LETET- 1\ SBUIMEIT DEMY "Q\Z8HT 4d\00ST-TOFT [oad\siapiog 1efosdispalond - iy



&
— g |m fee— 4"
R R A e M T L e * (®)
L [T o= fL - 5 P
= I E 17 s & = d
N P N =
i e.HEAD I to &L
T . & JAMB I _ . 7\
MASONRY | | . MASONRY -_ —_
OPENING I OPENING VIEW A-A
— —_l] . — —_ Astragal strike plate
] A EEl— Bhead "
’ | ASTRAGAL -
SHOWN FOR ¥
_ I REF. ONLY 1 ) .
2 FRAME T
2X BUCK~_| ] " o B 7
n - - -l %5
=& =8
- |1 -l 8¢ | EE-L _ =8
|| =° o S,
: 2XBUCK~, || — — 5 Xy Q
_ [ N v s g
— | : —|[= TP - 7 65
L H gt | _
= | — i R » B-B 1 VIEW B-B
S . M e 1 | iti L. v Astragal sirike plate
el \ I —T e e @ sil
P = s - . = 3 ] 8" |
BUCK ANCHORING HINGE JAMB FRAME ANCHORING ASTRAGAL STRIKE JAMB
Masonry 2X buck consiruction
//
'/
CONCRETE ANCHOR NOITES:
1. Substifution of equal concrete screws from a different suppilier may have different edge distance and center distance @\
requirements. 1

2. Concrete screw locations at the comers may be adjusted to maintain the minimum edge distance to mortar joints. If
concrete screw locations noted as "MAX. ON CENTER" must be adjusted to maintain the minimum edge distance to mortar
joints, additional concrete screws may be required to ensure the maximum on center dimension is not exceeded,

3. Concrete anchor table:

2-1/2"

}"

Documents Prepored By:

/O-Z‘r—-{L

813.659.9197
Lyndon F. Schmidt, P.E. No. 43409

P.O. Box 230 Voirico FL. 33595
orization No. 9813

BUILDING CONSULTANTS, INC.

Phcne No.:
Fiorida Board of Professional Engineers

Certificate Of A

/4

GLAZED WOOD DOOR

ROGUE VALLEY DOOR
BUCK & FRAME ANCHORING 2X

PART OR ASSEMBLY:
BUCK MASONRY CONSTRUCTICN

PRODUCT:

oNarS

V17

r'? :f

/

I/

HINGE DETAIL

LATCH & DEADBOLT DETAIL

BY

NO: DATE

paTE: 10/25/12

SCALE:  N.T.S.

DWG. BY: AL

CHK, BY: LFS

DRAWING NO.:
FL—13137.9

SHEET 5 ofF 7

R:)\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137.6~.10\FL-13137.6-.10.dwg, 4-5

REVISIONS

@ 2012 R.W. BUiLDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137.6-.10\FL-13137.6-.10.dwg, 4-6

HINGE JAMB

CONCRETE ANCHOR NOTES:

MASONRY:

OPENING

FRAME —_|

1X BUCK\

A

TYP. SILL

.
AL

-

8" MAX
ON CENTER

1
—-8"—1“-

FRAME ANCHORING

Masonry 1X buck construction

1. Substitution of equal concrete anchors from a different supplier may have different edge
disfance and cenier distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER” must be
adjusted to maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX., ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

ITw /4" 1-1/4" 2-1/2 3"
ELCO 1/4" 1-1/4" 1" 4
ITw 3/18" 1-1/4" 2-5/8" 1-1/8"

48"

36"

ASTRAGAL STRIKE JAMB

o
. @ ) ‘
ﬁw l

Astragal strike plate
@ head

//

//
7
1/

VIEW B-8

Astragal sirike plate
@ sill

//
I/

F/

®
]

-
)

/"'

e

ENoS

l/

u @/Cﬁ’

y
F/ 4

HINGE DETAIL

LATCH & DEADBOLT DETAIL

-2 5 ire

o. 9813
Lyndon F. Schmidt, P.E. No. 43409

£.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Florida Board of Professional Engineers
Certificate Of Authorization

Ry

Documents Prepared By:

ROGUE VALLEY DOOR
GLAZED WOOD DOOR
FRAME ANCHORING 1X BUCK
MASONRY CONSTRUCTION

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NO| DATE

DATE: 10/25/12

ScALlE:  NL.T.S.

DWG. BY: AL

CHX. BY: LFS

DRAWING NO.:
FL-13137.9

SHEET _B_oF _7

@ Z012 R.W. BUILDING CONSULTANTS NG,



R:\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137.6-.10\FL-13137.6-.10.dwg, 4-7

BILL OF MATERIALS
ITEM] DESCRIPTION MATERIAL

A | 1XBUCK WOOD
B_| 2XBUCK [SG >= 0.55) WOOD
C | 174" MAX. SHIM SPACE -

D |1/4'X2-3/4" ELCO OR ITW CONCRETE SCREW STEEL
£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F_|1/4'X3-3/4"ELCO OR ITW CONCRETE SCREW STEEL
H 13/16" X 3-1/4" TW CONCRETE SCREW STEEL

|| 1/4" X 2-1/4' ELCO OR ITW CONCRETE SCREW STEEL
1| DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR DETAILS -

2 | STILE [PINE SG >= 0.35) WOOD
3 | GLASS STOP [PINE SG >= 0.35) WOOD
4 | TOP RAIL [PINE SG >= 0.35) WwOOD
5 | BOTTOM RAIL [PINE SG >= 0.35) WOOD
6 | DOWEL WOOD
7 | JAMB (PINE SG >= 0.35) WOOD
8 |[#10X2-1/2' PFH WOOD SCREW STEEL
9 | WEATHERSTRIP FOAM
10 | HINGE STEEL
11 | #10 X 1" PFH WOOD SCREW STEEL
13| LATCH STRIKE PLATE STEEL
14 | SECURITY STRIKE PLATE STEEL
15 | KWIKSET SERIES LOCKSET [400) STEEL
16 | KWIKSET SERIES DEADBOLT (640) STEEL
17 | 22ga. X 3/16" CROWN X 5/8" LONG STAPLE STEEL
18 | MUNTIN (PINE SG >= 0.35) WOOD
19 | THRESHOLD [INSWING) ALUM.
20 | THRESHOLD [OUTSWING) ALUM,
21 | DOOR SWEEP VINYL
24 | ASTRAGAL [PINE SG >= 0.35) WOOD
25 | ASTRAGAL STRIKE PLATE STEEL

_____3:ow._‘

\Dﬂ\\\\\\\ i

|

HEAD & SIDE
Jamb

] 1.25" r

- 4.62"

24 i

r 1.47"j

THRESHOLD
Oulswing

7.81" {

——-| 1,38"  |fe=—

THRESHOLD
Inswing

0344
GLASS BITE

=2

— o

GLAZING DETAIL

S

\ 1/8" TEMPERED GLASS

-2 crn

No. 9813
Lyndon F. Schmidt, P.E. No. 43409

P.O. Box 230 valrico FL. 33535
ori;

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197
Florida Board of Professional Engineers

Certificate Of

Ry

Docurnenta Prapared By:

ROGUE VALLEY DOOR
GLAZED WOOD DOOR

PART OR ASSEMBLY:
BILL OF MATERIALS, GLAZING

PRODUCT:

DETAIL & COMPONENTS

BY

REVISIONS

L
S
3
=z
2

DATE: 10/25/1

SCALE  NT.S,

DWG. BY: AL

CHK. BY: LFS

DRAWING NO.:
FL-13137.9

sHEeT 7 ofF 7

© zo12 R.W. BUILDING CONBULTANTS [NC.



